

$$u_{tt} + \sigma u_t - c^2 u_{xx} = f(x, t)$$

$$G_{tt} + \sigma G_t - c^2 G_{xx} = \delta(x) \delta(t) = \delta(x, t)$$

$$G(t, x) = \int_{-\infty}^{\infty} d\omega G(\omega, x) e^{i\omega t}, \quad \delta(x, t) = \delta(x) \frac{1}{2\pi} \int_{-\infty}^{\infty} d\omega e^{i\omega t} \quad (*)$$

$$[-\omega^2 + i\sigma\omega - c^2 \partial_{xx}] G(\omega, x) = \frac{1}{2\pi} \delta(x)$$

$$-\omega^2 + i\sigma\omega = -k^2 c^2$$

$$[\partial_{xx} + k^2] G(\omega, x) = -\frac{1}{2\pi c^2} \delta(x)$$

$$G(\omega, x) = \frac{2}{2\pi c^2} \sum_n \frac{\sin \frac{4\pi x}{l} \sin \frac{4\pi x'}{l}}{k^2 - \left(\frac{4\pi}{l}\right)^2}$$

$$= -\frac{1}{\pi c^2} \sum_n \frac{\sin \frac{4\pi x}{l} \sin \frac{4\pi x'}{l}}{\left(\frac{\omega}{c}\right)^2 - i\frac{\sigma\omega}{c^2} - \left(\frac{4\pi}{l}\right)^2}$$

$$= -\frac{1}{\pi c^2} \sum_n \frac{\sin \frac{4\pi x}{l} \sin \frac{4\pi x'}{l}}{\left(\frac{\omega}{c} - i\frac{\sigma}{2}\right)^2 + \left(\frac{\sigma}{2c}\right)^2 - \left(\frac{4\pi}{l}\right)^2}$$

Assume  $\frac{l}{\sigma} > \frac{\sigma}{2c}$ ,  $\left(\frac{\omega}{c}\right)^2 = \left(\frac{4\pi}{l}\right)^2 - \left(\frac{\sigma}{2c}\right)^2$

$$= -\frac{1}{\pi} \sum_n \frac{\sin \frac{4\pi x}{l} \sin \frac{4\pi x'}{l}}{(\omega - \omega_n - i\frac{\sigma}{2})(\omega + \omega_n - i\frac{\sigma}{2})}$$

$$G(t, x) = \int_{-\infty}^{\infty} d\omega G(\omega, x) e^{i\omega t}$$

$$\begin{aligned}
&= \frac{1}{\omega} \sum_n \sin \frac{n\pi x}{\ell} \sin \frac{n\pi x'}{\ell} \int_{-\infty}^{\infty} \frac{e^{i\omega t}}{(\omega - \omega_n - i\frac{\sigma}{2})(\omega + \omega_n - i\frac{\sigma}{2})} dt \quad \textcircled{p2} \\
&= \frac{1}{\pi} \theta(t) \sum_n \sin \frac{n\pi x}{\ell} \sin \frac{n\pi x'}{\ell} 2\pi i \int \frac{e^{i(\omega_n + \frac{\sigma}{2})t}}{2\omega_n} + \frac{e^{i(-\omega_n + \frac{\sigma}{2})t}}{-2\omega_n} \\
&= \frac{1}{\pi} \theta(t) \sum_n \sin \frac{n\pi x}{\ell} \sin \frac{n\pi x'}{\ell} e^{-\frac{\sigma}{2}t} 2\pi i \frac{2i \sin \omega_n t}{2\omega_n} \\
&= \frac{2}{\ell} \theta(t) e^{-\frac{\sigma}{2}t} \sum_n \sin \frac{n\pi x}{\ell} \sin \frac{n\pi x'}{\ell} \frac{\sin \omega_n t}{\omega_n} \quad \left\{ \begin{array}{l} \text{Notice that} \\ \omega_n \neq 0 \\ \text{and } t=0 = 0 \end{array} \right.
\end{aligned}$$

Consider  $\frac{\sigma}{2c} \approx \frac{\pi}{\ell}$

$$\begin{aligned}
&\approx \frac{2}{\ell} \theta(t) e^{-\frac{\sigma}{2}t} \sum_n \sin \frac{n\pi x}{\ell} \sin \frac{n\pi x'}{\ell} \frac{\sin \frac{n\pi c t}{\ell}}{c \frac{n\pi}{\ell}} \\
&= \frac{2}{\pi c} \theta(t) e^{-\frac{\sigma}{2}t} \sum_n \sin \frac{n\pi x}{\ell} \sin \frac{n\pi x'}{\ell} \sin \frac{n\pi c t}{\ell} \frac{1}{c}
\end{aligned}$$

\* Or multiply by  $e^{-i\omega t}$ , take integral over  $\omega$  and draw  
 $\rightarrow$  do  $\omega$  and integrate by parts

$$\begin{aligned}
&-\omega^2 \int_{-\infty}^{\infty} G(t, x) e^{-i\omega t} + i\omega \sigma \int_{-\infty}^{\infty} G(t, x) e^{-i\omega t} \\
&- c^2 \partial_{xx} \int_{-\infty}^{\infty} G(t, x) e^{-i\omega t} = \delta(x)
\end{aligned}$$

$$G(\omega, x) = \frac{1}{2\pi} \int_{-\infty}^{\infty} G(t, x) e^{-i\omega t} dt$$

$$(-\omega^2 + i\omega\sigma - c^2 \partial_{xx}) 2\pi G(\omega, x) = \delta(x)$$